a8 N

FEIEEFRESFIRBEKRTRZBAT BRI
Fo8AIFERILMESFFREXKEFRAIAB MR P
R FAVVT Y- REIDT L

12:30

i

¥ S

tt S
TS,

i

dht S

F22K

B

M H a8 >




H6IEEFRESLRMAREARERTREER
EEES R MRS ELRBREFERS - F R T2
215 —PhATHRS

FIR-F2R FILR




FoSHEFHRILMREFFREREFRAZBEMEME TE #HA5HE

R x R x R =x K =x
7 | 3 5X | 1 0 I 2X 7¢  8x | 1
1 7c J 5¢c K 5¢c E 10 L E 11
5 x4 5/4(K) 1 5 x 9 xfl 1 5/4(K) 1 2 x 1 2 0 5/4(K) 2 3xl 0 2 x4 1 5/5(K) 4xf 3
£ (=3 B C J\BEF D E J\BEF F G (=3 H
5/3(:K) 14:00 5/3(K) 5/3(:K) 9:00 5/3(:K) 5/3(K) 11:30 5/3(:K) 5/4(K) 10:00 5/4(K)
BE BE BE J\EE J\BEF J\PBE BE BE
11:30 14:00 9:00 9:00 11:30 14:00 9:00 11:30
1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16
[N ] == ~
B = B =} = = B R 2 2 I 2 =% iL
ERE: F e
S i il % = H T X % &
it E 3 i F — b E 3 5B Rz 53] E 3 i) Bt = it )
K =x R =x
0 | 44X 3 | 4x E 10
T =]
6 4 5/8(H) 4 5 x 10 4 5/8(H) 6 2
T BE Pl ES 2= 7
5/7(%) 10:00 5/7(%) 5/7(%) 12:30 5/7(%)
BE BE J\EE J\PEE
10:00 12:30 10:00 12:30
2 0 7 x 2 2 3 x
> A 72
5/4(7K) 5/5(K) 5/5(K) 5/5(K)
J\EE BE J\BEF J\BEF
14:00 12:30 10:00 12:30
i ® B PINE
N
= L g & ou o= B o M
* £ = B R

X S—RIEMORBES EAYDAK




FEIEEFRESFFIRBEKTRZBAT BRI
Fo8EEFEFRIRSFFAREKEFRAIEEMX FE
=5 EEIKS

7C KX

11:00

1t 1t
& it
= =
% =




£ EFREFIREGMAT AT ERRER
e F8EIFEZRIL MR EFARFEKEFRASILRIMK F R
=5 HURESLEEHKE BEMNEATRMEI SV

B

" 7K 7K 7K 7K

7k g R R j)j R % Al R

iR = 5] o T - iR 3
==y T %5

% x = % —




FOIEEFREFARBEMATRAIBAF IR
FREFRILMREFFREKEFR

S X T E

K& K& K&
4 | 1 1| 3 2 | 1
11H 11H 11H
9:00 11:20 13:40
@ ® ®
4 x 1 2 o X 3 o X
10H 10H 10H
9:00 11:20 13:40
@ @ ©)
+ £ = = = N = = 1E
JEx T = ] ] R =2 (25 R
E 3 ] — = 5T L




5 5 8 EIEFRIMX SEFFARIFIKEFEARZ oFILIBX FERSE

(AVIE
(8c)
1 8x
Ot 4
)

1 2 3
= a =
=] =]
i T
ES R *

i = i =
(50)
20 1
(5¢)
0 12x
@ ®
4 5 6 7
E_I [ |
= = L]
]
]
7K
5 it ==
JEE

® 5H14H (LX) 10: 00~

@ 5H14H (£) 13:00~

® 5H15B (H) 10:00~

@ 5H158B (H) 13:00~




FOBOEE=RINMX S EFFREFEK
aFRAE oFPHXFE

B ¥x23F58128 Ok ~148 ()
=B BN

(A3 (A3 (A3
7cC
14 3 8 1
@ ®
138 138 (=)
10:00 12:20
6 3
©®
148(1)
10:00
5 4 5 6 6 4
128K 128K 128(A)
9:00 11:20 1340
1 2 3 5 6
N = E3 = N
= s
fio 5 -
pic T B (= =




